
SAP ABAP table P1020 {Infotype 1020: Demand}

P1020

MANDT [CLNT (3)]

PLVAR [CHAR (2)]

OTYPE [CHAR (2)]

INFTY [CHAR (4)]

SUBTY [CHAR (4)]

ISTAT [CHAR (1)]

LANGU [LANG (1)]

LANGU001 [LANG (1)]

LANGU002 [LANG (1)]

LANGU003 [LANG (1)]

LANGU004 [LANG (1)]

LANGU005 [LANG (1)]

LANGU006 [LANG (1)]

LANGU007 [LANG (1)]

LANGU008 [LANG (1)]

LANGU009 [LANG (1)]

LANGU010 [LANG (1)]

LANGU011 [LANG (1)]

LANGU012 [LANG (1)]

LANGU013 [LANG (1)]

LANGU014 [LANG (1)]

LANGU015 [LANG (1)]

LANGU016 [LANG (1)]

LANGU017 [LANG (1)]

LANGU018 [LANG (1)]

LANGU019 [LANG (1)]

LANGU020 [LANG (1)]

LANGU021 [LANG (1)]

LANGU022 [LANG (1)]

LANGU023 [LANG (1)]

LANGU024 [LANG (1)]

LANGU025 [LANG (1)]

LANGU026 [LANG (1)]

T000

MANDT [CLNT (3)]

 P1020-MANDT = T000-MANDT 

0..N

0..N

T002

SPRAS [LANG (1)]

 P1020-LANGU = T002-SPRAS 

0..N

0..N

 P1020-LANGU001 = T002-SPRAS 

0..N

0..N

 P1020-LANGU002 = T002-SPRAS 

0..N

0..N

 P1020-LANGU003 = T002-SPRAS 

0..N

0..N

 P1020-LANGU004 = T002-SPRAS 

0..N

0..N

 P1020-LANGU005 = T002-SPRAS 

0..N

0..N

 P1020-LANGU006 = T002-SPRAS 

0..N

0..N
 P1020-LANGU007 = T002-SPRAS 

0..N

0..N  P1020-LANGU008 = T002-SPRAS 

0..N

0..N  P1020-LANGU009 = T002-SPRAS 

0..N

0..N  P1020-LANGU010 = T002-SPRAS 

0..N

0..N  P1020-LANGU011 = T002-SPRAS 

0..N
0..N

 P1020-LANGU012 = T002-SPRAS 

0..N
0..N  P1020-LANGU013 = T002-SPRAS 

0..N

0..N
 P1020-LANGU014 = T002-SPRAS 0..N

0..N  P1020-LANGU015 = T002-SPRAS 

0..N

0..N
 P1020-LANGU016 = T002-SPRAS 

0..N

0..N

 P1020-LANGU017 = T002-SPRAS 

0..N

0..N

 P1020-LANGU018 = T002-SPRAS 

0..N

0..N

 P1020-LANGU019 = T002-SPRAS 

0..N

0..N

 P1020-LANGU020 = T002-SPRAS 

0..N

0..N

 P1020-LANGU021 = T002-SPRAS 

0..N

0..N

 P1020-LANGU022 = T002-SPRAS 

0..N

0..N

 P1020-LANGU023 = T002-SPRAS 

0..N

0..N

 P1020-LANGU024 = T002-SPRAS 

0..N

0..N

 P1020-LANGU025 = T002-SPRAS 

0..N

0..N

 P1020-LANGU026 = T002-SPRAS 

0..N

0..N

T778O

MANDT [CLNT (3)]

OTYPE [CHAR (2)]
 P1020-OTYPE = T778O-OTYPE 0..N

0..N

T778P

MANDT [CLNT (3)]

PLVAR [CHAR (2)]

 P1020-PLVAR = T778P-PLVAR 

0..N

0..N

T778S

MANDT [CLNT (3)]

ISTAT [CHAR (1)]

 P1020-ISTAT = T778S-ISTAT 

0..N

0..N

T778T

MANDT [CLNT (3)]

INFTY [CHAR (4)]

 P1020-INFTY = T778T-INFTY 

0..N

0..N

T778U

MANDT [CLNT (3)]

INFTY [CHAR (4)]

SUBTY [CHAR (4)]

 P1020-SUBTY = T778U-SUBTY 

0..N

0..N


